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1 8 03019242 & H0Y g BEAR 7[5 m AR 49.26 48.58 1:37.84 0.00
2 4 03019826 {E ERIE FeRl) B ER 49.60 49.02 1:38.62 5.82
3 10 03019399 /) \Hk % g JAN( Y= 50.27 49.26 1:39.53 12.61
4 2 03018046 &H ¥ g 7N H BT E R 50.15 50.25 1:40.40 19.10
5 1 03019339 44 #53E g AN TN 51.12 50.80 1:42.01 31.11
6 6 03017776 FRft FEAC g I E 51.42 51.32 1:42.74 36.56
7 5 03019403 /K¥% H-Y g BEAR 7[5 m AR 51.90 51.99 1:43.89 45.14
8 7 03018316  [Lj# &AL ) I ER 52.05 52.54 1:44.59 50.36
9 3 03017874  JRURF A ) BEAR 5 = AR 54.24 53.97 1:48.21 77.37
10 9 03019843 /NEFEE 2B Ee) BEAR 5 = AR 52.62 1:02.64 1:55.26 129.97
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
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DATA PROCESSING by SE I KO

TIMING by SE T KO
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DISQUALIFIED [1st RUN] 0
NOT PERMITTED TO START  [lst RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
NOT PERMITTED TO START  [2nd RUN] 0
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